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ENGLISH VERSION

1 (a) State the importance of Business Forecasting. 5
(b) Fit a second degree parabola to the given data and obtain10

the trend values :

Year19501955196019651970

Profit1112141816

(c) Fit a straight line to the following data and hence forecast5
the production for the year 1998 :

Year19921993199419951996

Production4050625860

OR
(a) Explain : Input  Output Analysis. 5

?(b) By taking  = 0.4 and initial forecast as 100, determine15
production forecasts for different years :

Year1983198419851986198719881989

Production120132145161186210225

2 (a) Explain Multiple and Partial Correlation. 5

(b) Given that : rrr???0.6, 0.7, 0.65 , determine R 5121323 1.23

and R .12.3
(c) On the basis of the observations made on 35 cotton plants,5

the total correlation coefficients of yield of cotton (X ),1
number of balls i.e. seed vessels (X ) and height (X ) are2 3

found to be rrr???0.863, 0.648, 0.709 .121323

Determine R  and r .1.23 12.3

r 2
(d) If rrrr??? , then prove that . 5R ?121323 1.23

1? r
OR

2 (a) State the properties of Residual. 5
(b) Given the following data, calculate the expected value of10

X  when X =58 and X =52.5 :3 1 2

Xr???55.95 2.260.578?1112

Xr ???51.48 4.390.581?2213

Xr ???56.03 4.410.974?3233

(c) If ? = 3, ? = 4, ? = 5, r = 0.7, r = 0.4 and r = 0.6 51 2 3 12 23 13
find the regression plane of X  on X  and X .1 2 3
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3 (a) State the uses of Linear Programming problems. 5
(b) There are 2 sections in a question paper in statistics. It is10

compulsory to answer atleast 2 questions from section 1 and

atleast 3 questions from Section 2. Each question in section
I carries 10 marks and each question in Section II carries 15

marks. A student is expected to spend on an average 15

minutes to answer a question in section - I and 25 minutes to
answer a question in Section II.

Time allotted for the question paper is 3 hours. If in all not

more than 10 questions from each section should be
answered, how many questions from each section should a

student answer to get maximum possible marks ? How many

will be these maximum marks ?
OR

(a) Define the following terms with respect to L.P.P.5

(i) Objective function
(ii)Constraints

(iii)Optimal Feasible solution

(iv)Slack variables

(v) Surplus variables

(b) Solve the following L.P.P. by using simplex method :10

Maximize Zxx??3212
Subject to

xx?? 4 and xx??   22   where xx, 0? .12 12 12

4 (a) Explain : Standard Error and its uses. 4

(b) Explain the difference between simple Random sampling4

and Stratified Random Sampling.
(c) The standard deviation of a population is 20. The mean of7

the 450 samples taken from this population is 30. Find out

95% and 99% confidence limit of population mean.

OR
4 (a) Explain : Parameter and Statistic. 4

(b) A sample is selected from a large population. The mean and4

standard deviation of sample are respectively 3.4 and 2.61. If
at 95% confidence limit, means of population are 3.23 to

3.57. Find out size of sample.

(c) A sample of 400 articles from a big lot gave 40 defective7
articles. Find 99.73% confidence level of the (%) of defective

articles.
______________
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